bRt

o

AIEX

i Soan i 8 ISR
Gben b s

mlieer e - T e
EL s e
R S
i e R S
<Gt

.

f

G L

S

et

Ea

re
e
-




Y:BM\)S,i-sa©

AERZF R
Jex



W& o

AHGHAHEELEST HRSHFYMN YBM/Si-sa, 635 10 BREOITENT L ZRERRE, FRE
BERMEMAM. BEEMARESE R, FESAEZEREANS. A BEFESSNLE RN EE
A B SRV A A AR R I . |
Super Elite TOEIC
Copyright © 2002 YBM/Si-sa.

Simplified Chinese edition copyright © 2006 TSINGHUA UNIVERSITY PRESS

All rights reserved. No part of this publication may be reproduced, stored in a retrieved system, or transmitted
in any form or by any means, electronic, mechanical, photocopied, recorded or otherwise, without the prior
written permission of copyright owners.

This simplified Chinese edition is manufactured in the People’s Repubtic of China, and is authorized for sale only
in the People’s Republic of China excluding Hong Kong SAR, Macao SAR and Taiwan.

CFLWAIERS L Y i 85 [ YBM/Si-sa 20 5524 T A A0t RAL B0 4 900 R A AR R AT K 28 th R B T4 AT
ARUMEA T AEHBDRABHE.

ABPNRF e ANRIEMEENCRafE P EEFS BUTENTRR AT EE SO 44 £17.
TR FESFRICS B F:01-2005-3486
RHLERE, BAYH R, S 2R B 1% . 010-62782989 13501256678 13801310933

B IR B (CIP ¥R

FEMV ARSI % /35 B YBM/Si-sa 23 B4, —JU AT iR A H R, 2006. 12
F 4 53¢ Super Elite TOEIC
ISBN 7-302-13930-X

I. % W. & M. HEE—KEHA-IFE . F319.6
T E R A E 54 CIP #8427 (2006) 4 134763 &

BIERE: BBIE

#HmEigit: ¥5¥

RENH: £5%

HAR&Z 1T EHERF R Mo db: dEEEREREFHRE A B
http.//www. tup. com. cn  Hj} 4. 100084
¢ —~service@ tup. tsinghua. edu. cn -
A #l. 01062770175 ERRGHEZE . 010-62786544
HHEHW . 01062772015 EFARS: 010-62776969

s IR HEFER)

s TR T

: REFERE

. 185 x260 Ef K. 35.25
& MP3 e 13K

: 2006 4 12 551 I Ep W 2006 4F 12 H 851 R EDR]

. ISBN 7-302-13930-X/H - 802

. 1 ~4000

. 58.00 JC

o=
B I bk of

Al HF HBHD

S & do 5

AF AP SCF AN U R R T (BT B8 0 55 2 R I, V7 0 A Kt R o BRI R
%, BEFRHIE: (010)62770177 #3103 7= 545, 018527 -01



HEES
|

TOEIC — Test of English for International Communication ([ B3 7% 33 M) Z 4304 B iR TERE
O R AN R T, BEE 60 ENERARL 3 TS F AKSw TOEIC #4K, 5000
& R E R A A 8 Sl AGA 6 A TOEIC £ & % . B TOEIC # X gt AMIEA EEHTIRWES
BEAEENGNE, AULERI SSER E TR IR L EE & HMAT,

FEEFTERRLL ETS) £ 1979 F X7 TOEIC £, 4% 5, TOEICER L L4 60 #MEX
RRAFRERAFHE VKB NATE, ABBFELLENEES, RINBAGEFLIEZ BRI
MEHTZEBME.

ABRAUTHE:

d EIINES
WEREEYURMA, £KE. FHEAA #ERBEIHSEELAMY,
& HEES, ETHS
FNEIRBA RSB, FEEFEF,
i ERAE
WAIRENERF, BTE3HRETH.
i MBHE
AHEA — KK ik 400 434k MP3 Y4, 4 10 EEBUERYT 1135 5k

HEFF TR

—. AEME, EORBIEGHE., ® 08,

T HlE. AR, M TS,

=. BEkBIE—8, 55 EEMENE. tﬁ%%ﬁ%ﬁ%iﬁ%ﬁﬂ%%

. FEEHER, REFRER, FHEEE .

Fi. MRS BOTHIET AR, FAEEES.

N B—-1TEREBRH—E,

AR E: TAAELRER,

REULEEN B EERE RO AR KT, BRESIRGHRE, HFESRKTRE
3P0

HREXFHMRALIMNES I
2006 4£ 9 H



Model Test 1
LISTENING COMPREHENSION

In this section of the test, you will have the chance to show how well you understand
spoken English. There are four parts to this section, with special directions for each part.

Part |

Directions: For each question, you will see a picture in your test book and you will hear four
short statements. The statements will be spoken just one time. They will not be printed in
your test book, so you must listen carefully to understand what the speaker says.

When you hear the four statements, look at the picture in your test book and choose the
statement that best describes what you see in the picture. Then, on your answer sheet, find the
number of the question and mark your answer. Look at the sample below.

Now listen to the four statements. Sample Answer

(A) @ (©) (D)

Statement (B) “They’re having a meeting.” best describes what you see in the picture.
Therefore, you should choose answer (B).













Part II

Now listen to a sample question.

You will also hear:

(A) I am fine, thank y\ou.
(B) I am in the living room.
(C) My name is John.

Therefore, you should choose answer (A).

You will hear: Good moming, John. How are you?

Directions: In this part of the test, you will hear a question spoken in English, followed by

three responses, also spoken in English. The question and the responses will be spoken just
one time. They will not be printed in your test book, so you must listen carefully to understand
what the speakers say. You are to choose the best response to each question,

Sample Answer

® B O

The best response to the question “How are you?” is choice (A), “I am fine, thank you.”

21. Mark your answer on your answer sheet.
22. Mark your answer on your answer sheet.
23. Mark your answer on your answer sheet.
24, Mark your answer on your answer sheet,
25. Mark your answer on your answer sheet.
26. Mark your answer on your answer sheet.
27. Mark your answer on your answer sheet.
28. Mark your answer on your answer sheet,
29. Mark your answer on your answer sheet.
30. Mark your answer on your answer sheet.
31. Mark your answer on your answer sheet.
32. Mark your answer on your answer sheet.
33. Mark your answer on your answer sheet.
34. Mark your answer on your answer sheet.

35. Mark your answer on your answer sheet.

36

37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.

50.

Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.
Mark your answer on your answer sheet.

Mark your answer on your answer sheet.




Part 111

Directions: In this part of the test, you will hear 30 short conversations between two people.
The conversations will not be printed in your test book. You will hear the conversations only
once, so you must listen carefully to understand what the speakers say.

In your test book, you will read a question about each conversation. The question will be
followed by four answers. You are to choose the best answer to each question and mark 1t on

your answer sheet.

51

52.

53.

54.

What are the people discussing about
their party?

(A) What food to serve

(B) How large it will be

(C) Whether or not to send invitations

(D) If they should invite coworkers to
the party

What does the woman say about
tennis?

(A) She is a novice player.

(B) She stopped playing about 3 years
ago.

(C) She does not want to play against
the man.

(D) She has been playing since she
was a child.

Why does the woman want the
meeting to be canceled?

(A) She is not prepared.

(B) She is feeling sick.

(C) She does not like meetings.

(D) She has important [unch plans that
day.

What does the man ask the woman?

(A) To join a weekend car trip

(B) To help him with his studies

(C) To come to his friend’s beach
house

(D) To give him directions to the coast

55.

56.

57.

What do the speakers have in
common?

(A) Both enjoy running short distances
(B) Both enjoy running in marathons
(C) Both run long distances slowly
(D) Both have won a marathon

What does the woman consider
unfortunate about the man?

(A) He grew up in Montreal.

(B) He can only speak French.

(C) He did not become bilingual.
(D) He never knew his grandparents.

What are the speakers discussing?

(A) Dieting

(B) Sleeping habits

(C) How to stick to a diet

(D) Eating before going to sleep

. How much coffee does the man drink

on weekends?

(A) None
(B) 1cup
(C) 2 cups
(D) 3 cups




59.

60.

61.

62.

63.

Why does the woman need the report
finished?

(A) She would like to show it to her
boss.

(B) It explains how to conduct a
conference.

(C) She needs to refer to it during an
upcoming conference.

(D) She must determine whether it
contains information that will
support her findings.

What does the woman desire?

(A) To coach her sons’ soccer team

(B) For her children to study more

(C) For her children to attend a
prestigious school

(D) To get her children involved in an
extracurricular activity

What are the speakers discussing?

(A) The economic crisis

(B) A message from Britain

(C) A failure to uphold their
obligations

(D) The deal they wish to make with a
British company

What has the woman decided to do?

(A) Walk to work

(B) Join a health club

(C) Find a job closer to her home

(D) Leave work an hour earlier
everyday

What did the woman do on the
weekend?

(A) Went camping

(B) Went to the park

(C) Attended a concert

(D) Had dinner with friends

64.

65.

66.

67.

68.

69.

What are the speakers discussing?

(A) Their costumes

(B) Going to a dance

(C) The price of tickets

(D) How to get to the New Year’s
Celebration

Why does the man have the time to
read?

(A) He quit his job.

(B) He lost his job.

(C) He sold his television.

(D) He is now working the night shift.

What would the woman prefer?

(A) To shop alone

(B) To open her own shop

(C) Not to shop at the mall

(D) To spend the day at the mall

What has the woman decided to do?

(A) Live on a boat

(B) Sail around the world

(C) Take her family fishing

(D) Move into a cheap apartment on
the waterfront

What do the speakers want to do?

(A) Cook Mexican food

(B) Eat dinner at a restaurant

(C) Learn how to prepare Mexican
food

(D) Invite some friends over for tacos

About what is the man curious?

(A) His company’s hiring policy

(B) How a new employee is doing

(C) Why the woman left her former
company

(D) The business that used to be across
the street
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70.

71.

72.

73.

74.

75.

What are the speakers discussing?

(A) The man’s fatigue

(B) How the man exercises

(C) The man’s emotional state
(D) The man’s need for a change

What did the man do to prepare for the
exam?

(A) He went to bed early.

(B) He studied all night.

(C) He studied for 10 straight nights.

(D) He did relaxation exercises that
morning.

On what does the woman comment?

(A) The man’s necktie

(B) A bruise on the man’s face

(C) The slippery road conditions

(D) A sloppy report that the man wrote

What advice does the man offer the
woman?

(A) She ought to make an appointment
soon.

(B) She would be better off switching
doctors.

(C) She should ask the doctor to make
a house call.

(D) She should wait a while before
seeing the doctor.

What has the woman recently done?

(A) Passed her driving test
(B) Had her moped repaired
(C) Sold her moped

(D) Bought a car

When will the woman’s sister arrive?

(A) After supper

(B) On Saturday morning

(C) The following afternoon
(D) Sometime Sunday evening

76. What does the man mean?

77.

78.

79.

80.

(A) He finds hot weather intolerable.

(B) He believes the woman is
insensitive.

(C) The woman should buy an air
conditioner.

(D) Fans and air conditioners work
equally well. '

What is the woman studying?

(A) Foreign cultures
(B) Horoscopes
(C) Education

(D) Plants

What will the man do in Hawaii?

(A) Whatever he wishes to

(B) Go swimming and snorkeling

(C) Attend meetings and lectures

(D) Gather facts about opening a hotel

What does the woman want?

(A) To meet the man’s friends

(B) To see a movie that evening

(C) To be invited to the man’s next
party

(D) To be included in the man’s future
plans

About what is the woman worried?

(A) Giving a presentation in front of
her bosses

(B) That there will be a reduction in
her salary

(C) That her boss will be fired

(D) The possibility of layoffs



Directions: In this part of the test you will hear several short talks. Each will
be spoken just one time. They will not be written out for you; therefore, you
will have to listen carefully in order to understand and remember what is said.

In your test book, you will read two or more questions about each short talk.
The questions will be followed by four answers. You are to choose the best
answer to each question and mark it on your answer sheet.

Part IV

81.

82.

&3.

84.

How many weeks has the movie been
playing at Paradise Cinema?

(A) 7
(B) 9
() 18
(D) 30

Which of the following is true of “The
Cave’?

(A) It has been dubbed in English.

(B) Admission to it is not restricted.

(C) It is Deborah Dern’s first
American film.

(D) Children under 18 must be
accompanied by an adult to see it.

How much are seats on Tuesdays?

(A) One third the normal price
(B) Half price

(C) One dollar

(D) Free

What claim is made about the produce?

(A) It is much cheaper than produce in
stores.

(B) It was picked that morning.

(C) It was grown organically.

(D) It is imported.

85.

86.

&7.

88.

Which of the following was not
mentioned?

(A) Potatoes
(B) Broccoli
(C) Green peas
(D) String beans

What is Laser Shop?

(A) A franchise

(B) A private business
(C) A non-profit agency
(D) A volunteer society

What does Laser Shop offer in endless
colors and types?

(A) Frames
(B) Glass
(C) Paper
(D) Paint

What kind of professionals work for
Laser Shop?

(A) Sales

(B) Banking and loan

(C) Accounting and investment

(D) Word processing and graphic
design
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89.

90.

91.

92.

93.

94.

How much mayonnaise is needed to
make chipotle sauce?

(A) Two cups

(B) Two 500 ml jars

(C) Twice the amount of peppers
(D) One half the amount of peppers

What color is chipotle sauce?

(A) Red

(B) Brown

(C) Light pink
(D) Peach colored

What are chipotle peppers?

(A) Spicy dates

(B) Dried red peppers

(C) Stewed green peppers
(D) Smoked jalapeno peppers

What kind of establishment is Phantom
Dudley’s?

(A) A steakhouse

(B) A coffee shop

(C) A dinner theater
(D) An amusement park

Until what time is Phantom Dudley’s
open everyday?

(A) 12:00 a.m.
(B) 11:00 p.m.
(C) 10:00 p.m.
(D) 9:00 p.m.

Who is the speaker?

(A) A waitress

(B) A tour guide

(C) A newscaster
(D) A flight attendant

95.

96.

97.

98.

99.

What is the speaker explaining?

(A) The house specials

(B) How to prepare pasta

(C) Why the restaurant is closed

(D) Where to go to get good Italian
food

How long a back up was reported for
westbound traffic on the LIE?

(A) 2 miles
(B) 3 miles
(C) 12 miles
(D) 20 miles

What should commuters from New
Jersey avoid?

(A) The Holland Tunnel

(B) The Tappan Zee Bridge

(C) The Bruckner Expressway

(D) The George Washington Bridge

When will the next traffic report be
made?

(A) After 10 minutes
(B) On the hour

(C) At7:30

(D) At7:50

Why is Martin’s Department Store
having such a big sale?

(A) They are overstocked

(B) It is their anniversary.

(C) It is going out of business.

(D) Every Christmas they have a sale.

100. Which of the following is offering 80

percent off its merchandise?

(A) Menswear

(B) Sportswear

(C) The shoe department

(D) The electronics department
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READING COMPREHENSION

In this section of the test, you will have the chance to show how well you understand
written English. There are three parts to this section, with special directions for each part.

Part V

Directions: Questions 101—140 are incomplete sentences. Four words or phrases, marked
(A), (B), (C), (D), are given beneath each sentence. You are to choose the one word or phrase
that best completes the sentence. Then, on your answer sheet, find the number of the question
and mark your answer.

Example ' Sample Answer

(A) B) @ (D)

Because the equipment is very delicate,
it must be handled with___.

(A) caring
(B) careful
(C) care
(D) carefully

The sentence should read “Because the equipment is very delicate, it must be handled with
care.” Therefore, you should choose answer (C).

101. Just as the deal between the two 102. Nicholas tripped on the steps and
companies____about to be closed, the ended up with____on his face.
government intervened. (A) scrape
(A) 1s (B) scraped
(B) was (C) scrapes
(C) were (D) scraping

(D) has been
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103.

104.

105.

106.

107.

The dialogue between the two men,
both of ____knew nothing about the
topic at hand, was full of pointless
rhetoric.

(A) whom
(B) that

(C) which
(D) since

Few managers are ___ by their staff as
being understanding of their needs
and feelings.

(A) stated

(B) believed
(C) interested
(D) recognized

Members ____the book club will
receive special benefits.

(A) of

(B) on

(C) with
(D) through

The chairman, well known for his
frugality, shocked his employees by
___thema $1,000 Christmas bonus.

(A) giving
(B) having
(C) taking
(D) opting

The gas company has____merged
with, or acquired 4 major competitors
over the last 6 years.

(A) neither
(B) either
(C) both
(D) also

108.

109.

110.

111.

112.

The most successful salesmen are the
__who know their products inside
and out.

(A) ones
(B) those
(C) person
(D) others

First-time investors who want to
invest heavily____ consider all their
options.

(A) had

(B) while
(C) hadto
(D) should

Although the man was full of anger
over the loss of his business, he
realized that there was no one to
blame but__.

(A) he

(B) his own
(C) himself
(D) themselves

It was just a matter of time before the
market ___affected the nation’s
biggest trade partners.

(A) downsized
(B) downswing
(C) level down
(D) fluctuates

___few people from New England
visit Mount Rushmore each year
because it is simply too far away.

(A) Some
(B) Very

(C) Many
(D) Actual



113.

114.

115.

116.

117.

In a special ceremony, the hill was
named an____ state historical site.

(A) outer

(B) outpost
(C) officer
(D) official

By law, subway train’s doors are to
stay open for 20 seconds _each
stop.

(A) by
(B) at
(€) in
(D) when

The couple had to____purchasing a
car when their landlord raised their
rent unexpectedly.

(A) deter
(B) layoff
(C) postpone
(D) put down

There is nothing like a good vacation
to relieve the stress by working in
a hectic office.

(A) caused

(B) causing

(C) had caused

(D) had been caused

After the submarine was
decommissioned it was towed to a
local harbor where it was____to create
an artificial reef to attract fish.

(A) sank
(B) sunk
(C) sunken
(D) sinking

118.

119.

120.

121.

122.

-13-

While most people were spending
money during the time of economic
prosperity, the man did nothing ____
save.

(A) so
(B) or
(C) and
(D) but

Journalists are sure to have a difficult
time keeping up with their finances
because their___are meager.

(A) earns
(B) earned
(C) earning
(D) earnings

The man was annoying in that he
constantly complained about being
overweight but he never did anything
to____his eating or exercise habits.

(A) trade

(B) pursue
(C) change
(D) bypass

Due to the overcast weather, the
designed solar-powered car was
unable to make its public debut.

(A) over
(B) great
(C) newly
(D) electronics

The country’s most___region was
plagued by the worst floods ever
recorded.

(A) peoples
(B) populous
(C) population
(D) populations



